Good afternoon: Warm up

Suppose a particle's motion 1s modeled by the differentiable equation
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f(t)= sl + 3+° + 41 +3 where t is measured in seconds and f is measured

1 meters Fmd the time(s) when the acceleratifn 1s zero.
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AP Packet

Be sure your name 1s on 1t
Pass 1t to the person at your table closest to the door



Suppose a moving object's position s, in feet, for any time t .. - &
ek

in seconds is modeled by s(t) = -3t*+12t+4. . )\
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Whiteboard Math :)

Each group gets a handout problem
Go to a whiteboard spot
One pen per group (makes for good discussion :))
Work 1t out!



Next Assessment: Thursday

HW:
motion handout: evens




